

Harper Sloane Productions 12018 Coyne Street Los Angeles, CA CA

05/29/2025 09:00 AM | Load In/Install 05/30/2025 09:00 AM | Install 05/31/2025 09:00 AM | Install 05/31/2025 09:00 AM | Event 06/01/2025 09:00 AM | Strike

P0: **Shipping Address:** Four Seasons , Beverly Hills 300 S Doheny Dr, Los Angeles, CA 90048 Salesperson: Romina Manolio

Invoice Date: Due Date: Upon Receipt

Description		Qtty	Price		Total
Pavilion Drape					
	Fabric Treatment - To Cover the Pavilions Tent	1	\$12,000.00	Т	\$12,000.00
	Fabric Ceiling Treatment - To Cover Pavilions Tent	1	\$12,000.00	Т	\$12,000.00
	Custom Stripe Valance in Green w/ Details in White 450' Linear	1	\$2,812.50	T	\$2,812.50
			Total Pavilion Dra	\$26,812.50	
Kids Area - Outs	ide of Weatherly Room				
	Communal Tables - Tokyo - 5' (10) 5'W x 22"L x 42"H - (3) 5'W x 22"L x 38"H Frame Color Upon Request	3	\$175.00	Т	\$525.00
	Barstools - Palm Springs - White Wire W/ White Seat 20"W x 18"L x 34"H	18	\$25.00	T	\$450.00
	Shelves - Shelving Unit Cubbie - Large 59"W x 16"L X 59"H - 13" X 13" X 16" FOR EACH CUBE - Custom Color Upon Request	3	\$275.00	Т	\$825.00
	Total Kids Are	Kids Area - Outside of Weatherly Room			
Merch Station					
	Custom Made- Merch station	1	\$15,000.00	Т	\$15,000.00
			Total Merch Station		\$15,000.00
Foyer/Food Area	3				
	Custom Made Draping - White Fabric to Cover Foyer	1	\$8,625.00	T	\$8,625.00

Description		Qtty	Price		Total
	Custom Valance for Foyer	1	\$1,500.00	Т	\$1,500.00
		То	Total Foyer/Food Area		\$10,125.00
Hall of Fame					
	4'x10' Hall of fame Panels with LED Frame Client to provide the Photos + Frames	6	\$937.50	Т	\$5,625.00
	Sconces - Madrid - Multicolor	6	\$62.50	Т	\$375.00
	7" x 13" x 5"h - Battery Operated - Custom Color Upon request				
			Total Hall of Fame		\$6,000.00
Ballroom Furnitu	ıre				
	Dining Chairs - Beverly Hills - Clear 17"W X 20"L X 35"H	120	\$23.75	Т	\$2,850.00
	Sofas - Chicago - White Boucle 98"W x 45"D x 30"H	4	\$625.00	T	\$2,500.00
	Coffee Tables - Bruges - Multi Color 60"W x 26"D x 12"H - Can be custom painted	4	\$312.50	Т	\$1,250.00
	Club & Lounge Chairs - Aspen - Swivel White Boucle 26"W x 30"D x 30"H	8	\$250.00	T	\$2,000.00
	Ottomans - Standard Pod 18"RND x 17"H - Cover Color Upon Request	12	\$37.50	T	\$450.00
	Bars - Tiered Slats - Multicolor Painted - Arcade White 12'W	2	\$0.00	T	\$0.00
	Barbacks - Oblong - 8'w - Multicolor Frame painted in Arcade White, Inner painted Green TBD 8'W x 24"D x 10'H	2	\$2,125.00	T	\$4,250.00
	Dining Table - Moscow - Round Gold Base 72" White Top - High Gloss Gold Base	10	\$500.00	T	\$5,000.00
	72" Rnd x 30" H (8) 66" Rnd x 30" H (10) 60" Rnd x 30" H (3)				
	Dining Table - Moscow - Rectangle Round Base White Top- High Gloss Gold Base 8'W x 4'L x 31"H	3	\$575.00	T	\$1,725.00

Description		Qtty	Price		Total
	Sofas - Aspen - Off White Boucle & Wood	1	\$862.50	Т	\$862.50
110101	Left: 68"W x 39"D x 30"H Middle: 69"W x 40"D x 30"H Right: 68"W x 39"D x 30"H				
		Total Ballroom Furniture		\$20,887.5	
Ballroom Drape	& Panels				
	Custom Made Panels to Go Over Banquets Over all size 8'x 13' H Approx Painted In Green?	6	\$1,687.50	Т	\$10,125.00
	Custom Made Double Sided entrance Arches	2	\$4,375.00	Т	\$8,750.00
	Custom Made Drape in White	1	\$9,000.00	T	\$9,000.00
	Custom Made Valance in TBD	1	\$1,875.00	Т	\$1,875.00
1	Sconces - Buenos Aires - Gold & White	12	\$150.00	Т	\$1,800.0
ļļ	6"W x 20"H - 75 Watts				
	Custom Round LED Sign - Light Up 3' Diameter	6	\$750.00	Т	\$4,500.0
		Total Ballroom Drape & Panels			\$36,050.0
Services					
	Delivery Install Day 1	10	\$600.00		\$6,000.0
	Delivery Install Day 2	10	\$600.00		\$6,000.0
	Delivery Install Day 3 Event Day	8	\$450.00		\$3,600.0
	Strike	10	\$600.00		\$6,000.0
	transportation	8	\$400.00		\$3,200.0
	Flame Proofing and Certs	1	\$2,500.00		\$2,500.0
	Manager on site	1	\$5,600.00		\$5,600.0
lease make che	cks payable to Revelry, Inc.	.	Total Produ		\$116,675.0
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it		Total Labor/Services/Misc: Wear & Tear (4.00%):			\$32,900.0 \$4,667.0
		_	Packing (2.00	•	\$2,333.5
lotes			Tax		\$11,084.1
			Discou	nts: otal:	(\$0.00 \$167,659.6

Balance: \$167,659.63